EARAROBEEIERT — 2 N— IBISH —F

2018128230 (H) 5EHLI8H

LNl Y R 2 %

5

CES)

[($57E] Fikb

‘ [R1&] & ‘ [REBE] — | Z (%) 16000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i e o2 | A 1:39.1 6-2-2 |35.6| — 2 488 | KRB (EH)
111|717 X2 v— 55.0 < - BIREM LY
LA TATv— BY—AX b7 ay =Y Tr—LA
S, S 4 2 | ARG 1:39.5 3-5-3 | 35.7| — 6 416 | BEZ ()
2 15 IIET=T 753.0 @ 172) () |EHET
L:O—X¥x> 746 B:TJaireb [ELREEAIES
g = 4 2 | SlmE— 1:39. 8-11-9 |35.3| -— 3 452 | FEEEEM ()
3B 6| 7FTTL 54.0 (76 ) |EE=L
L—=5—=29 7 B:yavrraLrb Eicbie]
R R . > AHEEE : 8- — HEEE (EH)
al1la|vamreyoxa > 2| KA 1(.33/94.)6 16-8-7 | 35.5 8 (416) L i
LNZ—ka1—-X B:Yavr 7EU7 TIXITT =L
\s g 4 2 | B. 7UKy S 1:39.7 8-7-6 |35.8| — 1 460 | BRAFIA (i)
5 12| =247k 54.0 (7€) ) | @) FrF-L—sry
R:TwREY A Biy—<LI—vLy b J—H T — L
. 4 2 | FlEEX 1:39.8 12-12-9 | 35.5| — 5 432 | FREX (FH)
6!510| 7y Fv1A 55.0 (1/2) (=) | EA=3h
R:N—=YT54 B:N—h SLH-—F> TS
— S v # 2 | BRERKA :39.8 11-12-12 [35.5| — 10 498 | EHB (E#)
7|5/ 9| VY=o 55.0 (N o |
iy AddyR BVIYZUXRL—X fidbabae]
S ILE T S s 2 | SREXH 1:39.9 13-2-3 |36.3| — 16 512 | AVEILIE ()
gl8l1g| 7—EIETI b 2.0 (3/4) (=) |5ES
LNV v = BYHFU— N E%5%
— LS 4 o | BSEEM 1:40.1 489 |36.1| — 13 | 470 |DREERNE ()
917114 i B el 55.0 (1 1/2) (=) RE=IE
LN—E>Tv— B:aZt>d+42 1EHENS
S S 4 2 | EEEHHE—ER :40.1 13-16-15 [35.3| — 12 | 450 |HALCRHE ()
10l s| ¥7bats 54.0 (") o |
LT RIAYL—> BIFLFUHIZ s EfE
R EEEN . o — LEiEZ (i)
» 7l FUsT—n it 2 =3 1740t)2 4-5-7 | 36.5 4 (430) Lhez
:Aa-I>7U> B:vXANY—-ZbyT HET7—L
S reS 4 o2 | BEEEETT 1:40. 1-1-1 [ 36.8| — 15 | 466 |iEKER (EH#)
P RIRIE S DL 5.0 (7t Oy | Ay
Rib—trTa—4r BiHIRT1—FZ _Eokdis
I N R F LB 140, -8 . — i ()
13 3| TR A it 2 == 1(34/%3 6-8-12 | 36.2 11 (330) L
L:Hrpn B:FavTTULER = IE—
N .« = N @K — : i - ERE (EH)
1417113 TYYFLF 4 —> 4 2 53?0 (11.430/.‘8 8-12-14 | 36.3 9 (4i2) Eﬂag\ééﬁ
L B4 TATv— B:IO—Va HET77— L
RS st 2 | MEAA 1:40.7 2-2-5 |37.2| - 14 | 402 |fREEEME (@)
15 5| N7V RU—L 54.0 (7E) (=) | FHERE
¥y 77 bw—L B:O-2XK)—L JIE 1%k
N 2y # o2 | AlllEkA 1:44.0 13-15-16 [39.3 | — 7 456 | BAEH (E)
16 g|IvYET7—7 55.0 (%21 4) (=) |FLEERs
:0-KA+0O7 B:IYENLA KIGEBHRS
@ 71 L
) 47.9-35.7
NA>Z4 L | 12.6-12.1-13.0-13.5-12.2-12.1-11.6-12.0
® I —F—@EBIERL
1T=7r=
2= = 1,5,15(7,14) (3,11) (6,12,13)-9,10(4,8,16) -2
Gol=5r= 1(5,11,16) (7,15)12(3,14,2)6(9,13,10)-8,4
40—F— (¥1,11) (15,16)5,12(7,2) (14,6,10) (3,9)13,4-8
[ N3
B O 1 460M 714K 11-15 1,050H e E 6-8 1,240 JEHE 6-11-15 3,700
8 B 1 200M 6-11 580M B = 11-15 2,720M B 11-15-6 18,980M
15 290M 6-15 920M B H 11-15 4,260M
6 200M

ABICOVWTRDTEEERROODE. TR LIV,




